Word-class pairs / Homographs

These are pairs of two-syllable words with identical spelling which differ from each other
in stress placement, apparently according to word class (noun, verb or adjective).In this
case, the stress is placed on the second syllable of the verb but on the first syllable of the
noun or adjective. Some common examples are given below (V = verb, A = adjective, N =

noun):

Spelling Form Noun/Adjective Verb
abstract ‘ebstraekt (A) ®b'straekt (V)
conduct 'kondakt (N) kon'dakt (V)
contract 'kootrekt (N) kon'trekt (V)
contrast 'kontra:st (N) kon'tra:st (V)
desert 'dezat (N) dr'zs:t (V)
escort 'eskoit (N) 'sko:t (V)
export 'ekspo:t (N) 1k'spo:t (V)
mmport 'tmpo:t (N) mm'po:t (V)
msult 'msalt (N) m'salt (V)
object 'nbdzekt (N) ab'dzekt (V)
perfect 'p3:fikt (A) pa'tekt (V)
permuit 'p3:mit (N) pa'mit (V)
present 'preznt (N, A) pri'zent (V)
produce 'prodjuzs (N) pra'dju:s (V)
protest 'prautest (N) pra'test (V)
rebel 'rebl (N) rr'bel (V)
record 'rekoid (N, A) rr'ko:d (V)
subject 'sabdzekt (N) sab'dsekt (V)




Exercise 1 : Transcribe the following words and mark the stress

Nouns transcription Verbs Transcription
a) language a) protect
b) captain b) clamber
c) career ¢) festoon
d) paper d) detest

Exercise 2 : Fill in the table with missing form, and mark the stress.

Spelling Nouns Verbs
abstract
conduct
conitract
contrast
desert
cscort
export
import
'msalt (N)
'pbd3zekt (N)
‘p3:fikt (A)
‘p3mmit (N)
'‘preznt (N, A)
pra'dju:s (V)
pro'test (V)
ri'bel (V)
ri'ko:d (V)
sab'dsekt (V)







